e F o AL DEW?
® Vb+1<+h @ Vo+1<V5+1
@) Vs+1<v5+ V2 @ 3- VI0< VI0-4

® 3-+vV10< V10-5

@1< V2022 V54+1< V54 V2




2. U5 e g2 ALY
@ V20=2+5 @ V27=3V3
® Vi8=4V3 @ -+50 = -5v2
@)-vB=-3v7

‘ ® -vV28 =-2V7




3. V33— V3)+ V75 2 tee] ohd?

© 5V3-3 @ 6v3-2 ® 7v3-2
@ 7vV3-3 @8\/3_3

3vV3-3+5v3=8v3-3




V2-1
D -2v2 @ 3-2v2 ® -3+2v2
@3+2«/§ B 22

(V2+1)

=3+22

(V2-1)(V2+1)




5.

4a*(x - 5) - 2a(5 - x) 5 J5-E3\SHH?

@ 2a(x+5)(2a-1) @ 2a(x-5)(a+1)
QQa )(2a+1 @ 2a(5-x)(2a+1)
® 2a(x-5)(1-a)

4a®(x —5) = 2a(5 — x) = 4a*(x — 5) + 2a(x - 5)
=2a(x-5)(2a+1)




@a +2ab + b2 = (a+b)®

@ xX*+(a+b)x+ab= (x+a)(x+b)
® a@® + 3a®b + 3ab® + b® = (a + b)*
@ a®+b%=(a+0b) (a* —ab + b?)

® a®-b* = (a-b) (a* + ab+ b?)

B

o171 4739) Fo] 9] ol o] ge
a+ab+ab+b:=a®>+2ab+b> ---0

439 FoIS ABHY 282 193 2ol T 2
a+b A BANAEE TE P o uf FArZ 9]
(a+b)? ---©

@, ©°1A a® + 2ab + b = (a + b)*




X Ty +12y% &

= olapAlY] Bo 2 Q14K Bt
Q4] & Foh?
® x+7y @ 2x+7 ®2x+7y
@ 2x+ 3y @ 2x+y

2 Ty 1272 = (5 )+ 3)
nX Ay x4 3y =2x+Ty




8.  ma—mb+mcE ATES

rek

AL

® m(a+b+c) @ m(a-b-c) @m(a—b—i—c)

@ ma(1-b+c) ® m(a+b-c)

ma—mb+mc=m(a—b+c)




o|J
I
A

E]_o =
- & X =
72 o AFEY
<& e

9.

@ x=2?

X =

@ 2= +x

x7ta®
‘ g :ZJ A&

1 off (S, a > 0)

i




10. o 27 3 AES

o

HFEA] et Ag B 1 =W?

@ 36 o] 59 AEZ - -6
© 59 AFT > V5
© (-3 JAEZ -3
® V16 o AlFZ

a0 2606 006 ®06e 666

© (-3)* JAET - 9 o AET - =3
® V16 o AFT - 4 9 AlFZ > =2




11. o+ % VIEF 2 7 AA57h b7 sk x o) grog 84 gk

B 2H?

@3 @ 4 ® 19 (@)26

®

A

o

36

@D V45 +3 = V48 = V24 x 3 o] Ho] A7} =2 3
@ 45 26 =

71 °] Fof AT H A F.

.




<+
Al

¢

A
sl
)
o8

fife)
oy
<

-

Top
il




Afololiz 72147} gk,
Apolol= §214:7F glek.

2 9] mi e

AL
5

8

o el57} gle.
® A= THE Rel4ot Feld Aolot B3] B £
5847} gic,

® AL Gel4ot B4 Bs] vt

@, @ A2 THE fel5et 54 Afolol Fabs) Be g4




14. the % FolA V3 2} V5 Abolol 1A ghe 27

® V3+0.1 @ V3+0.01 ® V5-0.01
V34 V5
@ @) v5- V3

~&B

VT2 = V1.89 < V3 < V324 = /(1.8)2

217<V3<18---@
V(22)2 = V484 < V5 < V5.29 = /(2.3)2
22<vY5<23.--®

@, oM 04 < V5- V3<0.6---O
m2tA O, @, @2 V3, V5 Ateldfl 9l soltt.

@ W; VB o Bt v 9 34elnz 5 4 Aol gl

® 02 < ‘/5; 18 <03 (- @)°12R 3, V5 Atold Q=
7k oyt




15. +16.9 x V640 & AArstH?

®ss @it @16 @ © 1040

/1
V16.9 X V640 = %X 64x 10 =13 x8 =104




_ V27
. ©-F--V8

@
© Vi6B+ V6 —=2v7 ) zvmsva:;*
@

R
o2VE_2 [ 2V




D V2 @ -05
@ 2+ 2 ® 1+ V2

~&B

D V2=14xx---
@ -0.5
@D1-V2=1-14Xx-=-04XX---

@2+ V2=34xx--
@1+ V2=24%xx"--
L D<@ <O<®<«®




18. V28— x 7} AAA47} H B & Sl A x 9] gho] ofd AL 12
H9

@ 3 @5 ® 12 @ 19 ® 27

28 Hr} 2 AlF4= 1,4,9,16, 25
@ V28 -5= V23
23 2 AlFF7E o ER x =5




19.

SN BRI RSB JEA LI, SRR B}

\/_

® 6ab @)sab

@ 3a+2b ® 3a+3b

® 2a+2b

~&B

DL VB35 426 =516

a= V2, b= V3 A ab= V6 ]
- 5v6 = 5ab

B=




20.

hee Fold AFIHE BT
e R

> 0 1 2 3 4
2.0 1,414 | 1,418 | 1,421 | 1,425 | 1,428
2.1 1,449 | 1,453 | 1,456 | 1,459 | 1.463
2.2 1,483 | 1.487 | 1,490 | 1,493 | 1.497
2.3 1,517 1 1,520 | 1,523 | 1,526 | 1.530
2.4 1,549 | 1,552 | 1,556 | 1,559 | 1,562
20 4,472 4,483 | 4.494 | 4.506 | 4,517
21 4.583|4.593 |4.604 | 4.615 | 4.626
22 4.690| 4.701 | 4.712 | 4,722 | 4,733
23 4,796 4.806 | 4,817 | 4,827 | 4,837
24 4.89914.909 | 4,919 | 4,930 | 4.940

O V0.2 =0.4472 @ 210 =14.49

® 220 =14.83 @ V0.23 = 47.96

® +0.0024 = 0.04899

@ +0.23 = \{—2_03

= 0.4796




® (2x-
® (2x-

(@)(Zx—

3y—-2)(2x=3y+3) @ (2x+3y-2)(2x+3y-13)
3y+2)(2x-3y+3) @ (2x-3y+2)(2x-3y-3)

3y—2)(2x-3y-3)

~&B

(2x - 3y) 5 A2 X|3I51H

A% -5A+6

= (2x-3y-2)(2x -3y - 3)




T 293 Zo] ¥tx]Fo] rm <l
AX =20l Fol am ) =25 W
gt ol k= o] HolE § 2 & o,
o r & AR Ao & YEhdl 227

d

Yol e
ol
kLo

1
il
Q

O S=(r-an @ S=(@+rnn
® S =a(r+3a)n @S =ala+2r)n
® S=(a+r)a-rn

~&B

S =(a+r)n-rn
=n{(a+r)?-r?}
=nla+r+r)(a+r-r)
= an(2r + a)




23.

V(5-2V5)2+ \/(2V5 - 5)2 & 719s] 81H a+ b V5 o],

a 2t b o] 27

®© -4 @0 ® 3

~&B

®s

® 11

o
T

7

A~
s

5>2V50| B2

V(B -2V5)2+ /(25 - 5)2
=15-2V5+2V5 - 5|
=5-2V5-(2V5-5)
=5-2v65—-2v5+5
=10-4v5

L a+b=10-4=6




24. 2(x+2)2 4 (x+2)Bx-1) = 3x = 1)2 = —(ax + b)(cx + d) & U,
ab + cd ©] & F3H? (H a, ¢ = FF)

@-1 @3 ® 0 @ 2 ® -2

~&B

x+2=A, 3x—1=BE *|&olH
2A2 +AB-B?>= (2A-B)(A+B)
=(2x+4-3x+1)(x+2+3x-1)
—(x—=5)(4x+1)
cab+cd=1x(=5)+4x1=-1




25. a=V3+22 W, 3(a+2)?2-2(a+2)-8 2 F2?

@D 41-22+3 @ 22+41V3 B 22-413
@ 223 -41 @41+22\/§

B

a+2=1 2 A&
3a+2)?2-2(a+2)-8

=32 -2t-8

= (t-2)(3t+4)
=(a+2-2){3(a+2)+4} =a(3a+10)
= (V3+2)(3V3+16)

=41+223




